N & 0l & AF S & M M

20158 = S0l& LB AE A

2M A=A
3 MsaY |4
Sl HMS NE 2 X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AR AN D} 7,261,605 5,406,798 1,854,807
= 38,417
X 1,050,000
J| 154,236
= 23,088
s 5,995,864
Hsatd =4 6,954,619 5,157,980 1,796,639
X 1,050,000
J| 154,236
< 4,217
s 5,746,166
s 8 &€ X2 1,671,226 1,660,226 11,000
25 MsEta N& 5,400 118,840 A 113,440
201 Let24d] 3,000 7,000 A4,000
01 At 22/l 3,000 7,000 A 4,000
OAEZ=[3 Mzl 882 == =X
60,0003 102/ 54 &~ 3,000
202 04l 2,400 3,840 A 1,440
01 = LH 4 HI 2,400 3,840 A 1,440
Od=te MUt X
60,0003 «2H 10 1,200
OFENAE & &2 MESUHAFIH X3
60,0002 *2H 102 1,200
= 2 g 150,000 160,000 210,000
307 21201 A 150,000 160,000 210,000
04 QIZFHALAIH B = 150,000 160,000 A 10,000
02015 #He & 2 &= S0 iU =l 150,000
8= s2Us 190,000 70,000 120,000
307 21201 A 190,000 70,000 120,000
04 DIZHHALALSE E X 190,000 70,000 120,000
OHM7058 8=S8=s748=2 U3 190,000
d= BHAAZ Ha 190,000 280,000 A 90,000
307 glz2tol & 190,000 280,000 A 90,000
04 DI2HHALALSE E X 190,000 280,000 A 90,000
02015 d=0s EHEE d==3 U3 190,000
S EAL NSHE 80,000 80,000 0
307 glz2+ol & 80,000 80,000 0
04 QIZFHALAIH B = 80,000 80,000 0
02015 E& HEZHQH NEUa 80,000
= =4AI M3 40,000 40,000 0
307 21201 A 40,000 40,000 0
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2M A=A
FM: HsdE 84
Sel: M T2 2 A (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DIZFSHAIAIRI 2 = 40,000 40,000 0
OXN28zsl 8=FE =&A7 A0IIEE e 40,000
a2 =32 U3 250,000 250,000 0
307 21201 A 250,000 250,000 0
04 DIZHEHAFA I 2 X 250,000 250,000 0
02015 =2 0W=7 3l 250,000
& s 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
02015 =222 ZFZT U3 5,000
2 AOIE=ZE U3l 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH 2 = 10,000 10,000 0
02015 =222 & HoEE U3 10,000
I HUA HEl 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
02015 222l E& HUA el 5,000
qZ HHECE 3 7,000 5,000 2,000
307 21201 A 7,000 5,000 2,000
04 DIZHHALALSE E X 7,000 5,000 2,000
02015 22| & BHEYUE Ual 7,000
MEH=s stite sl 30,000 25,000 5,000
307 gl2tol & 30,000 25,000 5,000
04 DIZHHALALSE E X 30,000 25,000 5,000
OHM18al I MEME 0tg Hal 30,000
=.0tH dX=&H 100,000 100,000 0
307 glz2tol & 100,000 100,000 0
04 QIZFHALAIH E = 100,000 100,000 0
OS.6tH 8XEH 2A(AEE 2l1) 100,000
AENSUHIFXIXA 75,820 62,380 13,440
201 Let24E] 1,820 1,820 0
01 At 22l 1,820 1,820 0
Ogz2 ASVEHs 9 HA 29
70,000 *13H »23] 1,820
202 oddl 1,200 1,440 A 240
01 = LH o4 1l 1,200 1,440 A 240
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2N
X ZH -
L= B

el

AEE M
HS e 54
Mg ds 2 X

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Lo MEXNSMSE XA 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OHM108 = MEH I F Ot 5,000
Hedm NS d2Ua X2 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OlsSgHl N2 dgal &It 5,000
d=2 2 T o MsUE XN 20,000 15,000 5,000
307 21201 A 20,000 15,000 5,000
04 QIZFHALAIR B = 20,000 15,000 5,000
O&= & & &9 Mslal ot 20,000
= &2 M=sds XA 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
Oz &9 M=sUs &It 20,000
o MEHSUHSE X2 60,000 50,000 10,000
307 glz2tol & 60,000 50,000 10,000
04 QIZFHALAIH 2 = 60,000 50,000 10,000
OHM27al &2 MEHMISUHSHE &It 60,000
detgE M=Eis EoF XN 130,000 120,000 10,000
307 21201 A 130,000 120,000 10,000
04 QIZFHALAIH B = 130,000 120,000 10,000
ORM54s Metgde M=sta &It 130,000
detds ZoHe M= &0 XN 20,000 15,000 5,000
307 21201 A 20,000 15,000 5,000
04 DIZHHALALSE B X 20,000 15,000 5,000
ORM233 detgs ZHoHel Msisl &t 20,000
2& FCXE 100,000 0 100,000
307 gl2tol & 100,000 0 100,000
04 DIZHHALALSE E X 100,000 0 100,000
OZ&FCXIA 100,000
MEHs F0 =20 301,732 296,977 4,755
J| 154,236
< 4,217
e 143,279
AUt EX S X S X O XA 127,440 126,240 1,200
J| 60,720
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B A A
HEM: ALY 4
e MEHs F0 =20 (2 &HH)
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 66,720
307 QI2t01 & 127,440 126,240 1,200
J| 60,720
= 66,720
02 Q2B AMAIE E =X 127,440 126,240 1,200
OLEr MEH X EZ A HIXI AL (5H) 121,440
J| 60,720
= 60,720
Ot MEH =X X =2&H|
100,000& x5 +12& 6,000
HEAMMEY S K S A B XA 127,440 126,240 1,200
J| 60,720
= 66,720
307 212t0| & 127,440 126,240 1,200
J| 60,720
= 66,720
02 QIZHEAAIRE E X 127,440 126,240 1,200
Q024 MEXNSKEX BHXIAYE(5Y) 121,440
J| 60,720
= 60,720
Ooolza MENsXEA S&H|
100,000 x5H « 122 6,000
AZXUIOEA ALY 46,852 44 497 2,355
J| 32,796
& 4,217
= 9,839
307 2iz2to| A 46,852 44 497 2,355
J| 32,796
= 4,217
= 9,839
02 QIZ2IAAAIE E X 46,852 44 497 2,355
OAZ2AX0IE2H ALY 46,852
J| 32,796
o= 4,217
= 9,839
StNHsE 84 70,000 70,000 0
stHs 4 70,000 70,000 0
308 XNXISHMSO0I& 70,000 70,000 0
08 W=Jl&otistE = 70,000 70,000 0
OM=sY=2sty 4K 70,000
HSAE &= 3,947,248 2,005,795 1,941,453
Xl 1,050,000
= 2,897,248
DISSHRAMFAIA 43,248 37,075 6,173
101 e1214| 3,248 2,075 1,173
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SH: AREMAD
I HSNY |4
S MSAE =5 EERED
= s
SA-3H-S(3AH) - MRAS - BES Off &t 24 %l‘&ﬁ Hns2
04J1AH2ZRSE S 3.248 2,075 1,173
OSUMSAE &EHI
44,6402 324 +8 2 +33] 3.215
OuTEE2 3,215,0002 * 1% 33
401 AIEHI L 2 TH B 40,000 35,000 5,000
1 A& 40,000 35,000 5,000
OSUHMSAA A& (0rA2SI7)
7,000, 0008l *57H & 35,000
OSUMSAE U AYHOESE S 5,000
HUBZHSE M5 3,344,000 0 3,344,000
Py 1,050,000
2 2,294,000
1 A& HIL 2] 3,344,000 0 3,344,000
py 1,050,000
2 2,294,000
01 Al HI 3,332,004 0 3,332,004
OgZ AUSZHSH &5 3,332,004
x 1,050,000
2 2,282,004
03 Al = Ch bl 11,996 0 11,996
0% AURBZHSH &5
3,332,004,0002 +0. 36% 11,996
MEUSBE NS 110,000 0 110,000
401 A HI L S THHI 110,000 0 110,000
01 Al Hl 110,000 0 110,000
OMEHSZE MBUSS ARY SEZA
110,000, 0002 14 2 110,000
MEAS F8 ZHIZM 40,000 0 40,000
401 AIEHI L S THHI 40,000 0 40,000
01 Al HI 40,000 0 40,000
S OIS IISZS YN L C2F
z 40,000,000 *17H 4 40,000
U NOESH AXRC &X 40,000 0 40,000
401 AIEHIL S THHI 40,000 0 40,000
01 Al HI 40,000 0 40,000
Ogs NOESY XV &X
40,000,000 « 17 £ 40,000
MH AUHOIESE AXRC HX 40,000 0 40,000
401 AIEHI L 2 THHI 40,000 0 40,000
1 A& 40,000 0 40,000
Os AUHOESY AXTC &X|
40,000,000 « 17§ £ 40,000

- 300 -




EAM AZXAAD
FM: HsdE 84
@2 MSAE 25 (chel & 9l)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
22 AUWHANOE =28 EFSEX SA 30,000 0 30,000
401 Al&HI & 28I 30,000 0 30,000
01 A& HI 30,000 0 30,000
OEZ AUNOIE=SZE &3 XS
30,000,000& *17H A 30,000
SZHEUAE HIOIEHAE 150,000 0 150,000
401 Al HI & 28I 150,000 0 150,000
01 A& HI 150,000 0 150,000
OZZHUAZE HIJDIHEAIE BIE ZHISA 150,000
CHOIAHIOIEZ2E REELZA 20,000 0 20,000
401 Al& Bl 28I 20,000 0 20,000
01 A& HI 20,000 0 20,000
OUOAHOIEEE 2L EZSA 20,000
QP ALES SRMAERE A USZA 130,000 0 130,000
401 A& BIZ 201 8] 130,000 0 130,000
01 A& HI 130,000 0 130,000
OZZALEE FEFRHERLE STA MFZA 130,000
SEMSAE 2L 964,413 1,124,982 A 160,569
FBALE 222 524,846 722,382 A 197,536
101 @14l 63,140 30,420 32,720
M4 JI2ZHZEXNSES 63,140 30,420 32,720
OZe2sd, dUMd=s2 =8 M=z AR
44,640 20 8L x23] 14,285
OZSSST AUNSHS B2 oy
44 640 x4 H x2 2 x503] 17,856
OHILIAZ REZZIQ 22
44,640 1 H 22 x102] 893
OdMEEZ 33,034,000 *1% 331
OZE2Sa HARLC 22 A2 (1Y) 25,311
—Jlgs 50,0003 «1H «26 2«12 15,600
— &0z 50,0003 19 %262 «200% 2,600
—Fg4y 50,0009 1% «25% 1,250
—Qx=g 50,000 110 500
— AN2te =¢ 5,580& *25 A1 2t+1H 10 1,395
—FYU2RE 50,0003 =12 «72 *150% 525
—4E2E= 19,950,000 *10% 1,995
—EA3 1,446,000 1H 1,446
QMR S B4 A2y 4,464
201 Let2d] 353,828 394,488 A 40,660
01 At 22l 27,917 26,437 1,480
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SN AZAAD
3 sNtg 24
S SEMSAILE 22 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Oget+ 2| 22,867
—AREBIY(HLSE) 200,0008! *123] 2,400
—EA ZTH MYII2E P
750 x250& x 128 2,250
—gHA PR TY(SH.EHAN) L HE
150,000%23] 300
— 2 S oL E HIZ 50,000& *10JH 500
—SI&XN & HEEE P2 240,000& x123] 2,880
— S&A S X HA| 11,000& x432m’ 4,752
— =283 HAH| 750,000& #2004 A~ 1,500
— == HEAH| 700,000 * 104 &~ 700
—HIEEFL(EZSA10E)
150,000& ~12& 1,800
— &80 24 oAyl 27,5003 «70H *23] 385
—SSEEIY(EFES) 200,000& *23] 400
—JIHA Zess(Horg & aeEs)2e
500, 000& *23] 1,000
—ZF4 O YXB L ADN S PY
2, 000,0002J *23| 4,000
O2AS dHANFE S| 7,000 *5H 30! 1,050
OFEg2sd AR 22 olodolE &bl
AX=S 4,000
02 352494l 325,911 368,051 N42,140
03322 ¢ MA 246,302
— &I (MsS2 AU S8HIIE S)
16,500,000 x12& 198,000
— QoY A= 62,000& x12& 744
— MOE=EAMNES 2,400,000& x12& 28,800
- 540, 2L HIZBA =2
250,000& =3CH 750
— A8l E8s 800,000& = 1CH 800
— R0FH 849 &2 242 ,000& 128 2,904
— &) MU =5
165,000& 20 x12& 3,960
—ggt2el =42 300,000 x12& 3,600
—AZES Y & HIAE IS £
=2 5,000,000 13| 5,000
—HOoI2 ANEZ 26,400 x123] 317
— DAIA HE(HSI|) I HAF =28
227,000& *13] 227
~WEANL DAINA HABHE
100, 000& *13] 100
— 8IS (NE) 2EE2 400,000& =1 CH 400
— 8IS (s) BEEE 700,000 = 1CH 700
O & Hl 35,609
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SN ARXAD
3 MsaY |4
Hel: SEHSAE 2L (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—AUMSsZ G ASH (S AIJEA)
1,070 x90m* *BA| 2k*30L 23,112
—ZSERsE HY ASHI(ER)
1,610& %304 *BAl2t*30L 11,592
—ALEIS S8 2 485 RFH
1,810& 104 =50 *10 905
OAIZ2 ZHl |RXE=Hl 41,000
— & ¥ Al 2el 30,000
— &) U2 2 (L 2 283)w
A 1,000,000& *13] 1,000
~ERWESIY, BILAY 2k 2H0E, o
JI Al 700,000 =104 7,000
—UMSHEH HDY FH L A 3,000
Oxg3st= el ,000,000& *1CH 3,000
202 O4dl 1,800 1,800 0
01 = LH 4 Hi 1,800 1,800 0
OMSAE 22l 83 ns 0l
60,0003 «2H 152 1,800
206 M= Hl 37,416 22,312 15,104
01 M= 4l 37,416 22,312 15,104
OZSSEN 20l BAE S4HE 7Y
300,000& =23l 600
OHUAZ 228 25 7L (A3, L5, W3
2 18) 100,000& »12& 1,200
OB HZ2AE FU(BLH = HH)
3,000& *400kg 1,200
ogd 8178 F#¢ 1,791
— IR 1,810 *100£ 181
-& 8 1,610& *1,0004 1,610
OMz=H & ¢ 200,000& 128 2,400
Ox&=+ &M & &d 7¢ 4,000
OxZd=+ el s437¢ 11,000
OZg2sd AL 2l 15,225
—=% ¢ Hz7y 8,225
—HSE 2 2,000
— 2 7L 4,000
—&d% 2 1,000
401 Al HI L =2 Tl 67,662 173,362 105,700
01 A& Bl 67,662 173,362 A 105,700
OAUMSZ 22 M2FHI 3,632
OdUxM=s2 dSI| M2EHI 9,030
OZEg2sE 2JIs 4N(ELAHE) 20,000
O2&E =X HIHsgyd &X 20,000
OBXZIE & ERHERE AXE0 E= 10,000




B A A
HEM: ALY 4
Ee: SEMSIAIE 2L (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OCCTV A & 24 5,000
405 XHo&HF S HI 1,000 20,000 A 19,000
01 XA E B F S| 1,000 20,000 A 19,000
OS2 MAHASL 22 s s aAEI| P2
Q! 1,000
JAMEH 2R 2 39,290 37,890 1,400
201 et 39,290 37,290 2,000
01 AP 2t 2] H| 2,350 2,350 0
OgergHl 2,350
~MEHS2A ARE 2U(2YY )
50,000 *12& 600
—MEHRZE2SY SES2E(HH=2E &1 HE
s) 7¢ 500,000& 13| 500
—MEHSSE SEH LrHII=SE P
750 x50& x12& 450
~MEHSIY HEN L AES HE2Y
50,000& ~12& 600
— ==& SEA &4 X HAH]
200,000& 13| 200
02 =224 H| 36,940 34,940 2,000
OZ2222 ¢ HMA 23,502
—MEHFE2H M= 1,500,000& x12& 18,000
—MEHYF2Y M= AIEE
200,000 x12& 2,400
—MEHES2S M)A 2AL =2
104,000& x12& 1,248
—MEHFE2E A0S AMIEE 4,508 ~128 54
—MEHSSY YA =222
150,000 x12& 1,800
OA&EZ&HI KX Y| 13,438
—ME Y2 AAABIZE 1kw 2I0IE, oA
JI WA 217,000 =144 3,038
—MEHF2H AHBIIE 250w 2lOIE, ©F
Il WH 100, 000& =144 1,400
—MEHF2E AHBIIE 400w 2tOlE &
oA Dl WA 200,000 204 4,000
—MEHES2S Ald A2
5,000,000 10 & 5,000
AZA-HE 2 400,277 364,710 35,567
101 e1214| 184,549 171,807 12,742
04 JIZtHIZ22XNSES 184,549 171,807 12,742
OALHLEEE LA L QR (4Y) 137,985
- Jl=22 60,000 x4 x26 x12& 74,880
— &= 60,0002 x4H 262 x200% 12,480

- 304 -




2M A=A
FM: HsdE 84
Hel: SEHSAE 2L (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— &5 60,0003 «4H «52 12,480
—Qx=g 60,0003 «4H «10 2,400
— ANZtZ =Y 5580 *57AI 2t 4P «12E 15,267
—522RE 60,0003 *2H «72 *150% 1,260
—42E= 116,892,000 *10% 11,690
— &&= 1,882,000& »4H 7,528
OM+EE 28 YB+H(4Y)
500,000& »4H «124 & 24,000
OFA Q18 (4Y) 22,564
—AUH=ZE Fa 44,680 2H 52 x50 22,340
—MTHEEZ 22,340,000 x1% 224
201 LBt 175,308 165,583 19,725
01 At 22l 22,880 26,438 A 3,558
Oget=&H| 18,200
—HA2EZ(MYI 85 S)72Y
200,000& 128 2,400
gAA HIR(SH L MEH)PL
300,000& =13l 300
— MY HIXE 22F (M=tl5,HsS AA)
- 50,0003 20 2 x12& 1,200
—dIIEE (828 2 58) 7
75,000& x12& 900
—S&EA g 2 10,000 4 & +12& 480
—JHss(dE & Hotd) <
75,000& x12& 900
— &0 22l (24, 20 E24)
50,0003 «4CH 12 2,400
— 08N &5 ¢HE ¢ 5,000& *5004 2,500
— 322 IHE 7Y 2,000& 50004 1,000
—AISE JIHE 2
2,000& #5071 x201 2 %23 400
—=dX ¥ SH3 FA 9,000 +240E »23] 4,320
- AR BEY NN L B2
100,000& *63l 600
— =2 20AMSE =228 7Y
1,000& *800H 800
OO0t 22X = &l 7,0003 «1H 202 128 1,680
Ogdgdze el =2 300,000& 10& 3,000
02 2324l 152,428 129,145 23,283
O=32gdl & HA 14,212
—R0ZH Y =2 132,000 128 1,584
— s3] M2l
165,000 x 100 A %123 1,980
—A0IE dEZ 4,5003 «201x123 108
— oY AIBZ2 52,0003 *23| & *12& 1,248
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2M A=A
FM: HsdE 84
Hel: SEHSAE 2L (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—#Zed RE= 1,400,000& 23] 2,800
—JlE A8 =8 3,000,000 » 14! 3,000
— 2 FIIA =5 250,000 »2CH 500
— 25 AN =8 16,0002 1201 & 192
—JtA A MY BEE 200,000& x23| 400
— g =2 200,000& 128 2,400
OAE ZHIS X 34,200
— HAAIAED KA B 800,000& »12& 9,600
— A= E FH L AlZ2el 10,000
— O] OdotH wH 6,000,000& » 14! 6,000
—ARE 224 E2" AFRID| £X
215,000 »400H 8,600
Ozl 104,016
— g A2 (ZAIDEA)
1,070& *300m x26 L x 12 100, 152
— e HZH(ER) 1,610 %4004 *6& 3,864
202 oddl 720 1,080 A 360
01 = LH o4 1l 720 1,080 A 360
O=Uodl 720
— 2% S =ZZAL 60,000 x1H*123] 720
206 M= Hl 25,700 26,240 A 540
01 MHZ 4l 25,700 26,240 A 540
O8=+Jl 8Ng ¢ 2,880
OosdH 7¢ 15,000& x 158 1201 & 2,700
OAMESE AZ(FAA=H)FPL
11,000& x 158+ 128 1,980
O8+8 A4S (PHZE) 2
15,000& x 158+ 128 2,700
OAEZE(PH, A, STHEY BE 2
600, 000& »3CH 1,800
OdlAZXE D02 22H 4,000& 2004 800
OPH, & =FI| A8 7 700, 000& *3CH 2,100
O=gef d2M 2¢ 50,000& «5&+12& 3,000
Oog=Jl8 23 7*¥ 12,000& x 10+ 128 1,440
OZMZE AII=dEXNE &3S 2
6,000,000& x13l 6,000
Ox=gX 42 ZHFY 150, 000& »23] 300
401 AIEHI L 201 14,000 10,000 4,000
01 A& HI 14,000 10,000 4,000
O A& & HUIAY 2,000,000 =2CH 4,000
OXNZBEE & SIHAE ® & 10,000
AZ Y SESMYL 22 119,074 70,162 48,912
= 38,417
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